Honors Algebra 2  ~ Arithmetic Sequences Notes (1)         Name:___________________________
Setting Pavers

[image: image3.wmf]...

,

18

,

15

,

12

,

9

,

6

,

3

You are setting pavers in a court yard according to the pattern shown.  
1) Create a table showing the first five rows.

	Row #
	
	
	
	
	

	# of pavers
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2)  What pattern do you notice in our sequence?

3)  Write a sequence for the first ten rows of the pavers.

4)  Write an explicit formula for this sequence where n stands for the row number. 

5)  Write a recursive model for this sequence where n stands for the row number (Hint: make 
sure you include the first term!)
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Ex1: Find the next four terms of the sequence 55, 49, 43, …    Is this an arithmetic sequence?    
   Why or why not?

[image: image8.emf]
Ex 2: Given the following sequence :      
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a.  What is the explicit formula?

b. What is the recursive formula?

c. What is the 10th term?
        d.  What is the 20th term? 
        e.  What is the 100th term?





Ex 3: Find the missing terms in the given arithmetic sequence.             
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Sequence - A ______________________ of numbers in a particular order.





Term - Each number in a ____________________________ is called a _____________________________.





Explicit – A __________________________________ for a sequence where you can find any term of the sequence without knowing any of the other terms.





Recursive – A formula for a sequence that uses the ______________________________ term.





Notation for current term=_____________ Notation for pervious term = ______________________








As we saw in the Setting Pavers example, ___________________________  ___________________________ 





are found by adding or subtracting  a constant called the _____________________ _____________________.





to the previous term.	Ex: � EMBED Equation.3  ��� or � EMBED Equation.3  ���





				       d=__________	     d=__________








Arithmetic Sequence Formula (explicit):








where � EMBED Equation.3  ���the nth term, � EMBED Equation.3  ���1st term, and � EMBED Equation.3  ���common difference.
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